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CERTIFICATE IN ORGANIC FARMING (COF) 
O 

Term-End Examination 

December, 2012 
O 

BAPI-001 : ORGANIC PRODUCTION 
SYSTEM 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. 

	

1. 	Define the following terms. 

(a) Buffer zone 

(b) Relative humidity 

(c) Heterotrophic 

(d) Parasite 

(e) Trap crops 

	

2. 	Differentiate between 

(a) Biopesticides and Biofertilizers 

(b) Aerobic and Anaerobic 

(c) Antifungal and Antibacterial 

(d) Botanical pesticides and Biopesticides 

2x5=10 

2.5x4=10 

3. 	(a) What are liquid manures? How they are 
different from FYM or composts ? 	5x2=10 

(b) Enumerate the advantages of 

vermicomposting. 
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4. (a) Describe the importance of ground water 
contamination in Organic farming. 	2x5=10 

(b) Differentiate between Hay and Silage. 

5. Name the different groups of biofertilizers. 	10 
Discuss their methods of application. 

6. Write short notes on the following. 
(a) Farm Yard Manure 
(b) NPOP 
(c) Vermiwash 
(d) IFOAM 

2.5x4=10 

7. (a) What is the role of crop rotation in building 
up of soil fertility and soil health ? 	5x2=10 

(b) What are the different types of composting 
methods adopted by farmers ? 

8. (a) What are the three types of Bio-control 
procedures ? 	 5x2=10 

(b) Enlist the different mechanical practices to 
control pests attacking the crops. 
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